
March k, 1 9 8 7 WOCOMAL FRESHMAN MEET

ROUND I : ALGEBRAIC WORD PROBLEMS

EACH ANSWER MUST BE IN SIMPLEST EXACT FORM

/. Fifteen less •/A«n Jen hmes a number is -/OS, tt//,0-/ ti the timber?

1. The dqes of iiree sfsiers are Cdnsecur/v* nulfrf/es of *f. Tf>ree

years ago -ff\i sum of their a$e* bias 39. Rnd flieir Present #

3 Jane had "tuice as many nickUt as Joe and 2 mere,

•f/u?n Joe had nitkles. J°e had no dimes. They bt>H had 3

loaders. Toyetfxer #u?/r money idaleJ 45.^5. U/h«+ Has He

ef Jake's ?

ANSWERS

(1 pt ) 1.

(2 pts ) 2.

(3 Pts) 3.

Bartlett, Shrewsbury, West Boylston



March k, 1987 WOCOMAL FRESHMAN MEET

ROUND I I : PERIMETER AND AREA OF PLANE FIGURES, VOLUME OF RECTANGULAR
S O L I D S , CIRCUMFERENCE AND AREA OF CIRCLES

EACH ANSWER MUST BE IN SIMPLEST EXACT FORM

/. rind "the area of this figure

S3

If 0 circular pie is cut inio t> equal pieces t tihal is ~H\e

of He Unyih of He circular arc part of eacU piece io
jj t i t i j O

Use it)* synhbl V />> your anrutr if approprfote.

3. A rnke uiitx Huo cectQftquUc layers has we <*

i»j 11" t>y 2" and He secaul Uyer rnecrurin^ V

Hov ffMoy cukicJ pieces eacL «?" &y 2* l>y 2" Can

loe cot inio ?

12"

%" iy 2 " .

e u/fale c«ke

ANSWERS

(1 pt ) 1 .

(2 p t s ) 2 .

(3 pts) 3.

5% units

Auburn, Bartlett , West Boylston



March k, 1987 WOCOMAL FRESHMAN MEET

ROUND III: OPEN

EACH ANSWER MUST BE IN SIMPLEST EXACT FORM

/. Ulnte the preJvc-t m scientific notation , ii*t is as a nmbtr
I w 10 imcs a PM<r of 10.

Tuo posibve iniejers are in He raf/o 3:1. if

is less Han 601 uhat is He $reaUH porf/Ve Value tf\*+

difference of &< ^o iniejers can he ?

1 •

I

" I «

y cuhes are <$[atd -together it -firm

Sface lattice, U//H "ficfer" U/hfch you Con

K if>e {M faitice measures 3*3*3, ho* y

Square unite of Surface orea toould be painted n

~(it lattice uere fully ciifpej in a bucket J- faiflt [

ANSWERS

(1 pt ) 1.

(2 pts ) 2.

(3 pts) 3.

Bromfield, Quaboag, Worcester Academy



March k, 1987 WOCOMAL FRESHMAN MEET

ROUND IV: OPERATIONS ON POLYNOMIALS

EACH ANSWER MUST BE IN THE FORM SPECIFIED - POLYNOMIAL? Foe |.

/ . Simplify Unte H\e result m descending order of

ANSWERS

(1 pt ) 1 .

(2 p t s ) 2 .

(3 Pts) 3-

tie result in discend*^ ordt

3. Find ti< Value of k for vhick y-3 is - f»^r <f

Algonquin, Doherty, Shrewsbury



March k, 1987 WOCOMAL FRESHMAN MEET

2AM ROUND: FACTORING

FACTOR EACH EXPRESSION AS COMPLETELY AS POSSIBLE OVER THE INTEGERS
AND SIMPLIFY EACH FACTOR WHEN POSSIBLE

3 pts each

/
CT sy /Y -y . "V

3 3L(3-x-<)2 - 3(3*-l)

s.

&,

7 T*

3 , . 2

Auburn. B a r t l e t t , D o h e r t y , Not re Dame, S t . J o h n ' s , S o u t h b r i d ^ e ,
West B o y l a t o n , Worces t e r Academy



>u?';h a , 198V WCCOHAL FRESHMAN MEET ANSWERS
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